TR 24FE TN BT PRI LB RS THUFSALUE LRI LFHS

HH100m HHE4 00m

1A LA

1 1.6 M = (& & 3) 1 54.9 HE & (B Fm 3)

2 1.7 5 B (P ¥ 3) 2 57.3 WA e (E & 3)

3 12.3 fnggE ok (& HE3) 3 57.5 A =B (& ok 3)

4 12.5 mH EA (W ok 3) 4 57.9 @ fHt ( E M 3)

5 12.6 JIlE #f#&a (& kK 3) 5 60.3 o mEE (oK 3)

6 12.7 =% & (EHE B 3) 6 68.8 % —H (P VE 2)

240 240

1 1.7 #f4% Kk (M Kk 3) 1 57.4 A fEF (& #H 2)

2 11.9 @l #2= (EF &8 3) 2 58.5 g CHE (® k3)

3 12.5 R (& @M 2) 3 58.9 b+ 9ESE (& F 2)

4 12.7 J& #w (P WE 3 4 59.2 AR —RR (oK 2)

5 12.9 #H XK (& # 3) 5 59.3 FB —f (M WE 3)

6 13.2 F# w2z (B kK 3) 6 64.4 /Nl TH (& HE 2)

i N7

1 1.7 v B4 (P WE3) 1 56.8 ®EIL K& B 3)

2 1.7 R EE (B & 3) 2 B8.5 HA {#A s A" 2)

3 1.8 /4% Kk (# Kk 3) 3 58.5 i & H3)

4 12.1 gl #£x (& & 3) 4 59.0 AW 1 B OfE 3)

5 12.2 JnggE sok (& #E3) 5 59.4 WA —R B Xk 3)

6 12.4 R ER (2 Fm 2) 6 60.0 JNEE CHE ok 3)

20 0m JE8 0 0m

1A R

1 24.2 M =th (& & 3) 1 2:10.5 FEJIZEREE (& & 3)

9 24.7 HIEF &KB (3 WE 3) 2 2019 =3 At (B WE3)

3 25.4 A ookl (kK 3) 3 2:15.34k mEth (oK 3)

4 25.6 ey IR (& M 3) 4 2:18.3 mH Mk (& KE 3)

5 26.2 Il HErE (& B 3) 5 21197 RH =/ O(CE K 3)

6 27.6 FHlg =K (& Kk 3) 6 2:20.2 B = o (&FE &/ 3)
7 02:20.52H ¥EF (B Fm 3)

2%[ 8  2:21.2 WHFERAL (¥ WE O 3)

1 24.0 HKE B O( & M 3) 9 2:22.27 L WA (& Fm 2)

2 24.2 gl #Exm (EF E 3) 10 2:22.9#k AL (M oKk 3)

3 25.6 J5 /(P WE 3) 11 2:26.54 Gt (& K 3)

4 25.8 JIl@ #t#m (m ok 3) 12 2:27.8/hB TH (& K 2)

5 26.0 &Y AKX (M ok 3)

6 26.4 L EH O (E HEO3)

1 24.5 M =th (& & 3)

2 24.8 @il #zm (& & 3)

3 25.0 HE B o(&a m 3)

4 25.1 @iy #% (P FE 3)

5 26.0 A ook ( #Ok 3)

6 26.7 Ji Z2 (P rE 3)



TR 24EEPERTRFEREL SRS FR245F50248 CREMILEEHRS

HHE1500m N7
1 16.1 K =L (&H B 3)
T 2 16.9 @iy %5 P WE 3)
1 43331\ & (# Kk 2) 3 174 TH H# (& & 3)
2 4:36.3 fAM WEE ( #Ok 3) 4 17.5 i@\ Gk (& & 3)
3 4:36.7 4% Ok (& M 2) 5 19.0 & |E#H ( # K 3)
4 43T THEH A (E A 3) 6 20.3 [ A5 C F WE 2)
5  4:42.8 | f&EK (P WE O O3)
6 4:43.2ZH #Y (& & 3) I8 E b Bk
7 4:45.3 /L W (P OWE O 3)
8 4:46.21hpm BE (& &/ 3) N7 3
9  4:49.9 = ABE (K O 2) 1 6.16 i B (P FE 3)
10 4:563.4d wmF (8 M 2) 2 5.62 A A (& B 3)
11 5:05.6 A s (& kK 3) 3 5.3 A —F (& Xk 3)
12 5185 =¥ HE (& kK 3) 4 5.30 #mbd ik (& B 3)
5 5.27 fAHW . ( E HE 3)
6 5.26 J5UH Xk (& F 3)
H#H3000m 7 5.14 #r X O (EFE M 3)
8 5.06 AL o B WE3)
T 9 5.04 fAmW A (M Kk 3)
1 10:03.1 &1L HEoOC# oK 2) 10 5.04 FFH HEE (& mm 2)
2 10:09.4 £ wmA (8B sk 3) 11 5.00 <F4r & (K 3)
3 10:09.9 ey Bk (& M 2) 12 4.53 g e (& Sk 3)
4 10:17.6 FAH EE (K 3)
5 10:26.2 WE)IZFE®RE] (& & 3) I A = Bk
6 10:30.4 i+ #E (B Z 3)
7 10:33.9 A &K (P OFE 3) N7
8 10:35.9 &1 (B m 2) 1 1.65 /)N Moo EFE B 2)
9 10:39.3 W= ARME (& HE 2) 2 .60 /hME B (¥ WE 3)
10 10:40.8 AjH X% (& %k 3) 3 1.60 A& Kk (# K 3)
11 10:59.8 #H: M O(E & 3) 4 1.60 ‘AH WA (& & 3)
DNS W FE=th (P VE 3) 5 1.50 HlF =Xk (& Kk 3)
6 .45 bR 2\ (&8 & 2)
7 1.45 JEAK = (B FH 3)
511 0mH 8 .40 #He BERK (& K 3)
9 1.40 wHEEFs (oK 3)
14 10 .40 i EA (CE Kk 3)
1 17.1 B &% (Y WE 3) 11 1.40 ¥EAK 3 (& OHEO1)
2 18.2 FH BB (& B 3) 12 1.35 /ph#k B2 (P ¥ 3)
3 20.7 LU 2 (& & 2)
4 21.0 jER ok (C # ok 3) MR AL
5 22.1 SFRFEXREE (& %k 3)
6 23.0 rh R (& M 3) N7 3
1 9.52 tH #H&H# (& & 3)
2% 2 9.21 Hg K (& H 3)
1 16.1 K =L (&H B 3) 3 8.87 ¥ Mmoo &E B 3)
2 17.6 JHHE 3k (B & 3) 4 8.60 ‘FHEAMM (P WE 2)
3 18.8 4t EH (K 3) 5 8.16 mimAHEM (& B 3)
4 20.6 @ B (W WE 2) 6 8.16 & 2t (B WE 3)
5 20.7 FAHE W} O(®E Ok o2) 7 8.14 M g (&2 &m 3)
6 21.8 et (& K 3) 8 8.10 1l EAN (& 2k 3)
9 7.83 MA — (&® Kk 2)
10 7.66 fEA (& HEO2)
11 7.56 /K AN #OK O 3)
12 7.18 ¥AM weo ok 3)



R4 TV 2R LR A TH2AE5A2E LRI LI

1+-24100m 1 - 24FEEBK
140 N7
1 12.1 /g # (O FF & 2) 1 5.62 Ky ®E (B M 2)
2 12.5 o @l (& W 2) 2 5.19 W)L ¥4 (& B 2)
3 12.8 H I} P W 2) 3 5,09 Hk =k (& FEm 2)
4 12.9 FAHE—EE (K 2) 4 5.01 JEAK  Hw (& EH 2)
5 13.0 ANk (5 &k 2) 5 4.98 @ LEE P OFE 2)
6 13.2 +F  #i (E B O2) 6 4.91 A Foak (& K 2)
7 4.87 AW =K (P ¥E 2)
2% 8 4.76 WA s Ok 2)
1 12.6 A (E B 2) 9 4.71 % fim (& ok 2)
) 12.7 A FMO(E B 2) 10 4.60 SFHE #aF (MoK 2)
3 12.7 Ry ®4E (&8 MW 2) 11 4.52 AF A O (E K 1)
4 12.7 Wm KB (P ¥ 2) 12 415 A FH (& Kk 2)
5 12.7 WA B ok 2)
6 13.3 &% #WR (B Kk 2)
1£100m
73
1 12.1 /N Moo (EFE B O 2) 14
2 12.4 R e (8 M 2) 1 13.1 —& #HE (¥ W 1)
3 12.6 Hk o (E o 2) 2 13.2 Pim XK (&FE &/ 1)
4 12.8 WHE AE (P W 2) 3 13.2 WK N3 (& K1)
5 12.8 /K i (& & 2) 4 13.4 #k E MoK 1)
6 128 K& ®®E (B & 2) 5 13.6 Ak wik (B2 @ 1)
6 4.7 wim Bk (8 k1)
1+-21500m 240
1 13.3 &= #Mia (B FE 1)
T 2 13.7 #0 ®Bge (& & 1)
1 4:44.1 T8 KkmE (7 sk 2) 3 14.0 WA FEFE (= K 1)
2 444 2%E) WAL (O E OB 2) 4 4.2 K# M (& # 1)
3 4:48. 8 FmERTR (P WE 2) 5 4.4 & B2 (&8 m 1)
4 4:49.27E 0 BA (B 0 2) 6 15.0 #& Kk (M K 1)
5  4:50.7 5FH JEFE (oK 2)
6 4:5L.3pWNEmAE (E B O2) N7
7 A2 4mAR EM (B 1) 1 13.4 JHAK 13 (C&E 1)
8  4:58.1 [LiA omooE k 2) 2 13.5 &= #isa (2 WE )
9  4:59.5 R H thAY (K 2) 3 13.5 —4 #HEE (3 0 )
10 5:03.5dbfF fHRK (& HE 1) 4 13.5 i WAk (& & )
11 5:07.4%% —&H (P ¥ 2) 5 13.5 #&  #AE (B oK 1)
12 5:08.7 #& Wk (8B & 1) 6 13.8 #k ek (& )

44X 100mR
N

X

47.3 FF2 - figls - K2 - pRES N
47.9 RS- EIS - HA2 - NYE2 B
48.2 JF3 - fAH2 - RS - FiEF3 PFIvE
L6 P2 - EAHS - A3 - TS VIS
49. 4 JUHS - k3 - FHB3 - A3 Bk
49.6 M3 - HALES - HaEs - g B

S O1 = W DN —
S
(0]
(@)



T R4 FE TN B TR B AR TR2AFIA2AE LR WS

S8 0 0 m

H@100m N7
1 235,441 BaM (& & 3)

140 2 2:3b6 RN AidE (®E kO3)

1 14.0 Z%F £ (E ®B 3) 3 2:36.989 AW (& Sk 3)

) 4.2 )i @ (P ¥ 3) 4 2:38.1&RRE OME O (EFE EH 3)

3 14.3 =y & (E B 3) 5 2:4L.8KIE  ME (& KE 3)

4 14.7 /LU EE (®E Ok O3) 6 2:2.10 o oK 3)

5 14.7 fAE BEfE (oK 3) 7 21430 KT FE Ok 3)

6 14.9 i Y (B m 3) 8 2:43.9JIIAK A (P WE 2)
9  2:45.0 BA XX (&8 @m 2)

2%H. 10 2:45.4 i f&E (E M 1)

1 13.0 vy BHO(E B/ O3) 11 2:5L.3 K 24 (H FE 3)

9 13.4 JE® S (3 ¥ 3) 12 2:58.2%H #kE&F (& F 3)

3 14.5 &% Ry (&8 Xk 2)

4 14.7 HET Wt (& #E 3)

5 14.7 &% 8 (M K 3) H£iE1500m

6 14.8 famr Himw (82 F 3)

Y 1 53 TR wiE (& kR 3)

1 12.9 v ZFH O O(E B/ 3) 2 554l Ay (E & 3)

2 13.3 ¥EH B (PN M 3) 3 5:16.2 A Hr (K E 1)

3 13.9 Z%F (8 (& ® 3) 4 5214 IR #dE (P OWE 2)

4 4.1 )i W@ (P ¥ 3) 5 5:25.989% AW (&H Kk 3)

5 14.3 =#y & (& B 3) 6 5:26.8 KiE  ME (& KE 3)

6 4.4 &% BT (87 sk 2) 7 5:28.5 3 HifK (&K K 2)
8 5:20.1 7P M (oK 3)
9  5:30.8 JEEFINAET (B FE O 2)

H#35H2 0 0m 10 5:3l.L0KTF K (M K 3)
11 5:34. 64 Xk (& 2 3)

150 12 5:43.2 UfE W (& & 3)

1 28.9 /NROVWHS (E E 3)

2 29.6 JuJIl vEE (P FE 3)

3 30,0 W WX (& Kk 2) i1 00mH

4 30.1 2 EfE (M ok 3)

5 3.2 HH Ay (EFE M 3) L

6 32.4 S X (B m 2) 1 16.6 XM T# (& & 3)
2 18.4 &% BHE (& Xk 2)

2% 3 19.0 famy AREE C # K 3)

1 27.9 R BHR O (E B 3) 4 19.6 iy fE& (P ¥E 3)

) 28.1 WA FZ&E (oK 2) 5 214 MW E&HR O (EFE K 3)

3 29.3 %+ E& (P WE 2) 6 22.3 |[UMEMEERE (8 m 2)

4 30.1 /bl FEE O(E Sk 3)

5 30.3 fEfr EHyR O O( & & 3) 2%H.

6 31.7 BRHFEFHIE (& HE 3) 1 17.8 AT zfE (& & 3)
2 19.7 BEgASE  (F kK 3)

ek 3 20.5 FHF 2 (& HE 2)

1 28.6 JR¥K Efm (& B 3) 4 20.8 JEHTAHNL (& FH 1)

2 29.6 A mHEO( M ok 2) 5 20.9 m=EF FEHL (K 3)

3 29.7 /NEOWHEE  ( E OB 3) 6 21.5 HiE v (B OvE 1)

4 30.3 &+t HA (P WE 2)

5 30.8 WX (& Xk 2)

6 30.9 Jp)I WEE (P FE3)



TR 24 E TV TR AR FHAFOAA TR LIRS

Hosmf AL
73
1 6.7 K T (& & 3) 73
2 17.8 AT #E (&HE & 3) 1 10.15 #FHE EFE (P ¥ 3)
3 18.5 &4 HE (8 kK 2) 2 9.81 AJII o (& & 3)
4 19.4 Aa7H A (C# K 3) 3 8.70 M+ W ( #H K 3)
5 19.4 By fE& (P WE O 3) 4 8.45 HpR WER (& #H 3)
6 20.0 WBEHAXE  (HF kK 3) 5 8.3, XH FTEHE (& = 2)
6 8.05 M #k&F (& F 3)
7 7.84 tEA FnEg (& HEO3)
Hesm EhE Bk 8 7.54 YWH E£H (& ¥k 2)
9 7.52 AR ¥R (& ®EO3)
T 10 6.40 |lA EEK (&F 3k 2)
1 5.01 EE &% P FE 3) 11 6.37 BEH RE (O Kk 3)
2 4.51 SR EBEH (&H &/ 3) 12 DNS =EZ0H (P VE 2)
3 4.43 BRR O WER (& & 3)
4 4.26 @ TR (& K 3)
5 3.96 itH ¥ (& FEm 3) 1-2%100m
6 3.96 HijH ¥ (8B & 3)
7 3.92 #rkE H3FE (P FE 3) 140
8 3.81 WEILFRFILL (K 2) 1 13.9 SAHEREE (&K & 2)
9 3.72 Jp)iEfET (& HEO3) 2 4.3 BRzzA (& 3k 2)
10 3.71 AHZFEFHE (& I 3) 3 14.6 fHE FEF (3 ¥E 2)
11 3.52 ‘AW ¥E (M K 3) 4 4.7 WELpFIA ok 2)
12 DNS N M (" %k 3) 5 14.8 &% o (B Fm 2)
6 15.0 ngEdH»n  (FH M 2)
F3m A m k 24
1 13.3 A EA (M oKk 2)
T 2 13.7 B thE (' k 2)
1 141 A ARFE (kK 3) 3 14.0 3B 4t (& & 2)
2 1.38 ZHLT< (3 W 3) 4 4.4 A& fker (3 VE O 2)
3 .35 KM 8 (& & 3) 5 5.3 A Aa (8 m 2)
4 .35 ¥R % (& Xk 3) 6 15.6 Py AR (K K 2)
5 L35 b #i&mE (& & 2)
6 1.30 WEA A& (M ok 3) N7
7 1.20 F® Ho(&E o o2) 1 13.6 A A (M K 2)
8 .20 &5 B (F sk 3) 2 13.9 HARmREE (& & 2)
9 .20 B W (P ¥ 1) 3 14.0 Bl #%E (&7 %k 2)
10 .20 ki ER (& HE 2) 4 4.2 ik 4t (& & 2)
11 .20 APFRE (2 1) 5 14.5 BNz Z (&5 Xk 2)
12 DNS BE O (& M 3) 6 14.5 (UA& ke (P #E o 2)



ER24FEPVER TP ERBELHRERRS FR24%5A248 tEBILE E5ERIS

1-24800m HHE4X100mR

Y R

1 2:30.9 ApEE R (& & 2) 1 54. 1 A2 - hR3 « #RIK3 - Pk B
2 2:3.9Hm T (E B 1) 2 54. 4 &42 - B2 - T2 - 953 Bk
3 2:37.8@|mE EE O(E Kk 1) 3 55. 8 M2 - JEEF3 - dL)I3 - (A2 JIWE
4 2:39.045H FL (B M 2) 4 56.2 FEIL2 - FAF3 - 2483 - thA2 K
5 2:39.2MiE/AEAS (3 WEO2) 5 57.6 113 - MET2 - /I3 - ZiR3 i
6  2:41.2 HEINEST (P WE 2) 6 58. 8 M1 - HiH3 - Fifr3 - k2 E%0
7 2043 1gHTAEN (B 1)

8  2:4.7TIEK WA O (E ®E 1)

9 2:47.2 7 HEK (E HEO2)

10 2:47. 4 F5H fER (C# K 1)

11 2:49.6 3 wx (&8 Xk 2)

12 2:53.7 Ik (M oKk 1)

1 - 24BNk

1 4.48 Al #HE (7 2)
2 4.34 FPEPMEER (& & 2)
3 4.34 FBENZ Z (& %k 2)
4 4.19 EH BE (& & 2)
5 4.09 JHE BER] (P O ¥E 2)
6 3.93 EAEREAAEN (oK 1)
7 3.77 WA #kwr P OWE O 2)
8 3.76 [LWHMEER (B M 2)
9 3.62 g B (B & 1)
10 3.61 YEMMBAT (& I 2)
11 3.55 NIjH FnZE (kK 2)
12 3.30 HET BE& (& H 2)
1£100m
14
1 13.8 HEil A (EFE B 1)
2 14.6 |4 HZE (B vE 1)
3 14.6 V&S B (A Kk 1)
4 14.9 APRZEZ (& M 1)
5 15.0 A% v (& # 1)
6 15.4 FHE A E B X 1;
2%H ( )
1 14.5 [MH #i (& & 1)
2 15.0 &R #EF (&8 &m 1)
3 15.0 y5Kk HE (3 VE 1)
4 165.1 M\ BERL (K 1)
5 15.1 WA XE (&8 kK 1)
6 15.6 b H&E (& 1;
(
73 ( )
1 13.7 #El o oB4E (EFE B 1)
2 14.3 @4 HE (B vE 1)
3 14.6 vEAF B (M Kk 1)
4 14.6 [ME #A& (&HE & 1)
5 14.8 MAMWRIEZ (& M 1)
6 15.0 &R #EF (&8 &m 1)



